SH7FE BRI HISEARL

(5 F)
X IKE | R | R | R ait
DH6FEREIEHAK N (HiEE0) 15 4 11 8 G
EHAE I Q (N+G) 0.395 | 0.105 | 0.289 | 0.211 38
IHF®E (B#4K) Ek | R (K-S)xQ) 6.3 1.7 4.6 3.4 0
K (BR=FE 20 STE LOEARE 6 2 5 3 16
FAKRRKCLBR—FZ T ABREE 3 - AR 1
S (R—F2D#E) 4 REBARE 7 2 6 3 18
A EUR R ((K=S)xQ) 5.5 1.5 4.1 2.9 1
K (BR=FE 16 STE LOEAREL 6 2 4 3 15
IH &2 - S BHs
S (R—F2D#E) 2 REEARE 5 2 4 3 14
BAE >>JIR R ((K=S)xQ) 9.5 2.5 6.9 5.1 1
K (BXEAE) 32 STELOEARE 10 3 25
S -k 8 REEAR 9/10 3/2 7 5 24
BAE STILA R ((K=S)xQ) 7.9 2.1 5.8 4.2 0
K (BASAL) 24 STE LOEAE 8 4 20
S (—k&) 4 REEARE 2 20
(& F)
X IKE | FEE | PR | BE ast
DH6FEIRMABIAK N (Hi5E0) 12 4 8 5 G
EUAREL R IZIR Q (N=G) 0.414 | 0.138 | 0.276 | 0.172 29
IHPE (IB#MK) EUR R ((K=S)xQ) 6.6 2.2 4.4 2.8 0
K (BREFE) 20 ST EOEARE 7 2 4 3 16
FIAKRR(ICLZR—FR T ABKEES A0
S (R—FROHE) 4 REEARE 9 2 4 3 18
A EUR R ((K=S)xQ) 5.8 1.9 3.9 2.4 0
K (BREFE) 16 STE_EOEARE 6 2 4 2 14
IHT &2 - B
S (R—FZD#E%) 2 RIEEARE 6 2 4 2 14
BAE ST R ((K=S)xQ) 9.9 3.3 6.6 4.1 0
K (BR=FE 32 T8 LOEARE 10 4 24
S (—k#0 8 RIEEE ALK 10 3 7 4 24
EAEE FTIVR R ((K-S)xQ) 8.3 2.8 5.5 3.4 0
K (BAREAL) 24 STE LOEARE 8 20
S (3—k#) 4 REEARE 3 3 20
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